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Section A: (30 x 2marks = 60marks)

For each question from1 to 30, four options are given.: Qne af them is the correct
answer. Make your choice (1,2, 3 or 4). Shade the-correct oval (1, 2 3or4)on
the Optical Answer Sheet.

1. . Study the flow chart below. Which one of the following letters, A, 8, C or D,
best represents steam?”

Start Here ) .
— O]
Canitbe - | Y®® | isitcolourtess |
1 compressed? 1 and invisible? ) .
No .
Does it have a No Isitcolouress |- No .
| definite shape? and invisible?
Yes
(1 A ;
(2) B
(3 C
4 O



The diagram below shows the watercycle. A and B:are processes whue C
and D represent the state of water inthe cycle.

‘ Process B )

Process A .

sed -

ground

Which one of the foliowing comrectly identifies A, B, C and D?

B Processes - A : State of water

A - B . C . .. D
(1) [ Condensation | ‘Evaporation Gas’  Liquid
{2) | Condensation -| Evaporation Liquid Gas..
(3) | Bvaporation Condensation Gas Liquid
(4) | Evaporation.- | Condensation |  Liquid |. = Gas



3. Whlch of the followmg statements tllustrate the mportance of water in
humans correctly?

A
B
C

Water in our saliva softens the food we eat thus enabhng us
to swallow our food more easily.
Water in the large intestine contains digestive juices to help
break down starch into sugars.
Water is .needed in the digestion and absorption of food in

(1) AandBonly
(2 AandConly
(3) BandConly
(4) A/BandC

the small mtestme

4. The classification table below shows how dnﬁerent actlvmes aim to
conserve water could be grouped into different categones

L Ways to conserve water

i

X

!

Use water from mopbing
the floor to fiush the
toilets.

ty |- z
Remove toxic waste from Fix leaky faps,

water and use the water-for
cooling machines in

. factories.

Use water from washing Use a of water to
tabl R S2 3 cup ot}
veee g;:‘c;s\.water the Produce NEWater from rinse your mouth.

_ waste water,
What could the headings for X, Y and Z be?
X Y - Z
1) Reduce Reuse Recycle
(2) Reduce . Recycle Reuse
3) Recycle Reuse Reduce
(4) Reuse Recycle ‘Reduce




Which one of the following life processes prevents living things from
becoming extinct? '

(1) Growth

(2) Movement

(3) Reproduction .
(4) . Response to stimulus

The seeds of a plant contain the génes of the parent plant. This ensures
that the new plants would have the same characteristics as the parents.
What are some characteristics that can be passed down?,

A Colour of flower
B Number of fruits
C Shape of leaves
(1) Aonly
(2) "Conly

(3) AandConly
(4) K BandC

Study the diagram of the common bread mould.

What is pr'esént in the part marked “X"?

(1) cap.
(2) fruit
(3) spore

(4) spore bag



8. Jenny wants to collect some spores from the bird’s nest fem so that she
can look at the spores ‘under'a microscope. Which part of the fern plant
should she.collect the spores from?

(1)
(2)
(3)
(4)

A The roots of the fern plant.
B The surface of the fem leaf.
C The underside of the fem leaf.

B only

C only
8 and C only
A,Band C

9. Clara puﬁa‘p,ed 300 em3.of ,airf{into each of?;&he"conﬁainerse A.f.ﬁand“C;beloW.
What is the volume of air in.each container after she pumpedin the air?

_ e
500 em? 200 cm®
: A B Cc
(1) 300 cm3 - 300 cm3 - 300¢m?3
(2) I00cm3. . 1 . -800em3 . | = 200cm3
(3) 1000 cm3 800 cm3 500 cm?3
(4) 300 cm3 . 300 cm3 200 cm?3




10.

Joshua recorded the properties of items A, B, Cand D as ,sﬁown below.
Study the informatien.given and identify A, B, C.and D.

A
Matter x
Definite Shape x
Definite Volume X

|l *Can b& compressed  x: J. -

C
Matter v
Definite Shape x
- Definite Volume v
Can be compressed x

_

o ifl<Cah be GompressEd’T % J

B
Matter v
Definite Shape ., B v
Definite Volume v

D
Matter v W
Definite Shape x
Definite Volume x

Can be compressed v J

A B C D
1) Wind Coin Water Oxygen
(2) Wind Coin Oxygen Water
3) Heat Water Coin Oxygen
i (4) Heat Coin - Water Oxygen




11.  The diagram below shows the.changes in the state of water.

R

l (ce Water

Water |——— Steam

- T

csSihe

. Which one of the following is true about R and $?

A Heat is gained during both processes R and S.
B Heat is gained during Process R but heat is lost during
Process S.
C'  The temperature of ice remains the same during Process R
. but the temperatire of water increases during-Process S.
D The temperature" ater rémains the'same during: Process S
but the temperafiite of i ice increases during Process R.

(1y Aonly .
(2 Bonly '
(3} AandConly
(4) B andDonly



12.  John set up an-experiment o observe condensation takmg place ina
room with a constant temperature of 28°C.

mirror mirror mirror mirror

90°C 5000 30°C

Setup A sefipB™ T Y Usddpic T 1T Setupd

in Whlch set-up, A B, C or: D, would the greatest number of water droplets
='-be\seen on; the mlmor’? : :

EIR

1 A
2 B
@3 C
4 D



13.  As-part of a class activity, Ms Tan- asked her pupils to coitipare the
amount of water used by 4 families, A, B, C and D. The graph below
shows the average amount of water used by the 4 families in a month.

" Average amount of water used per:

Families ' .

. What could be the possible.reasons for the 4 families spending different

amounts of water?
A Only Families B and D are small families
. B Family A has the largest number of members. .
C Family C was away on a holiday for 25 days in this month.
D Members of Family A have a habit of taking long showers of

)

(2)
(3)
4)

at least an hour..

A and B only

C and D only

B, C and D only
A,B,CandD



14.

15,

water?

Use rain water to wash vegetables.

A
B Collect water from a leaking tap to cook.
C Use water from a bath tub after a person has taken his bath
to water plants.
O Use water that is drained out from the washing machine to
wash the foilet.
(1) Donly

(2) CandDonly -
3) .. B,Cand D only

(4) -AiB,Cand D

number of balsam seeds in Jars W and X and an equal number of bean
seeds in Jars Y and Z. Then they pour equal amount of water in each of
the 4 jar. They recorded the conditions of the set up in the table below.

Jar | Type of seed | Type of soil used Where the jar was
- . placed
W Balsam . Garden soil _ In the shade
X Balsam. . Sand-- In sunlight
Y “Bean Garden soif "~ In the shade
Z Bean | Sand. - | In sunlight

Which 2 jars should the children compare in order to find out whether
balsam or bean seeds grow into seedlings faster?

(1) XandY
(2) XandW
3) WandZ
(4 WandY

10



16.

17.

-

Spores-are usually scattered by

(1) water
(2) wind
(3) animals

(4)  splitting;action

Study the diagram below. A stone is carefully lowered into a beaker full of
water. '

Q
_ At first Later

The diagram shows that._

A both water and stone have mass.

B water has a fixed shape and volume.

C the stone occupies space and has no fixed volume.

D water has no definite shape and the stone occupies space.
1) Aonly
(2) Donly

(3) AandDonly
4 B and Conly

11



18.  Aand B are dlassified according to the methods of reproduction.

Method of Reproduction

Seeds

Which of the orgaqi'sms'showh- in the table Below best feprésent Aand B

respectively? -
A B
;(4) ol _Mc}ss o Mushréom
2) Tree Femn' - Moss
3) Chilfi Tree Fern
| (4) . Water Melon _ ~ Papaya

12



19. The diagram below shows aférn growirg on the trunk of a certalq frult trée.

fruit

fehfu_ 3

In what ways are the fem and fruit tree simitar?

A Both are noniﬂowerlng plants.

B Both have roots (o take in water-and minerals..

‘C The leaves of both plants capture sunlight to make food.
(1) Aonly
(2) B only

(3) AandConly
(4) BandConly

13



20,

21.

. An experiment was done to see-how fast bread mould will grow. under

different conditions. Which one of the following pieces of bread is- most
likely to turn mouldy in the shortest time?

(1) | Q (2> ‘

Moist bread under direct sunlight Moist bread in the shade -
(3) - (4)
Moist bread in an airtight container Dry bread in an airtight container i m the

under direct sunlight - _shade

A fully inflated rubber ball with a volume of 1 50 cm3 was placed atone
-'end, A, of a balance as shown befow. Sand was added to the pan at B
until it balanced. .

i Rubber ball .

150 cm3 Sand

What will happen to the balance if 50 cm3 of air is pumped into the rubber
ball?

(1) B will move downwards:

(2) A will move downwards

{3) A and B will remain balanced

4) B will move up and then move down

14



A Mass is the amount of matter an object has.
B Volume is the-amount of space a body occupies.
C The mass of an object does not change when it is heated.
(1) Aonly
(2) Bonly
(3 AandBonly
(4 A,BandC
23.  Ken placed four grasshbppers in fouir different containers as shown below.
" Allfour containers are sealed with a plastic film. In which of the containers
would the grasshopper still be alive after a week?
) @ ,
Plasticfim = . < _ - o3 Plastic film
’ Hole
Hole o
Grasshopper. . Grgsshopper
Water W_ate(
Léaf |
3) (4)

- Grasshopper

= Plasﬁéﬁlm-- L

15

Which-of the-fol!ovrving~ statements-is/are true?




24.

Solids, liquids and gasés are alt made dp of microscopic particles, but the
particles in the three different states behave differently.

The followmg dtqgrams represent the arrangement of these particles in its
different states, A, B and C, at room temperature.

0%5| |© o
©CO o | o

RN

. St‘a\teA .. " s - Sta.tﬂeB.E':r_ A I'-'\?‘.'Il’;"f':.,:-s-" t Stafé:iC

Particles in the solid state are packed close together in a regular pattem.

Parucles in the hqund state are close together with no regular pattern

- Pamgles in the gaseous state are well separated wnth no regular
arrangement. e :

Based on the mformatron above, what is the most: hkely arrangement of
particles in the respective areas X and Y of 2 kettle of water in the process
of boiling?

Area X' ———6\
"{white mist) I\

. Area Y

{water in the kettle)
Area X AreaY
1) State A State C
1 {2) StateB State B
(3 State C : " State B
4) | State C State C

16



25.

26.

The table below shows the melting and boiling points of four substances.

Substance Melting point {°C) Boiling point (°C)
wW -15 85
X 20 100
Y -45 20
Zz 10 95

At which oneof the following temperatures are the four-,substances-in the

same state?

(1) -10°C
(2) 10°C
(3) 50°C
(4) 105°C

Study the flow chart below carefuily.

; No .
Animals Is it an insect? A
i-. Yes
Does its young look like the No )
adult? 2 B
1=
| c
Which of the following is correct?
A B C
1) Cockroach Butterfly Cat
(2) Cat _Butterly - Cockroach
{3) Cat Cockroach Butterfly
(4) Butterfly - Cockroach Cat

17




27.  Which of the following statements describe the life cycles of both a frog
and a dragonfly?

A They have 3-stage life cycles
B The adults care for their young
C Their young breathe through gills

(1) AandBonly

(2) B and C only

3) A and Conly
- {4 A;BandC

28.  Which of the following correctly shows the life cycle of fa"ﬂpwering',élant?

(1) flower ' flower
/ (2) /
adult plant \ 4 ' seedling’ \
see
\ seedling : /
/ adu!t plant
@ i
/ fruit \ -(4) seedhng
. -flower " adult ptant . flower \
seed

N\

aduit plant

18



29. The graph below represents the results of an investigation on the growth
of three identical strains of bacteria, a type of microorganism, at different
~ temperatures. '

L

" M fbictes -

Tlme(h,;mu
What can you infer from the gf_'aph?
A - Bacteria cannot érow_ at 5°C. .
B Bacteria grow well at 15°C than 5°C. . -
C Temperature affécts the growth of bacteria.

(1)  Aonly

(2) AandBonly
(3) BandConly
{4 A,BandC

19



30.

The picture below shows a'bee. * -

Which part of the bee is most helpful in identifying :t as an insect?

(1)
(2)
(3
(4)

A Number of legs
B Number of wings
C Location of antennae

D Presenceof 3 body parts

B only

A and D only
B and C only
A,Band D

20
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Write your answers to question 31 to 44 '

The number of marks available is shoWh in brackets [ 1 at the end of each
-question orpart huesﬂon \ |

- ":-3;-1,_'-' Jermy placed a-metal sheet a short dlStance away fmm tne: spout of a
- boiling kettle of water as shown below

Me{él-'shéet

(a)  Water droplets are. seen.n the metal sheet after. some time. Explain how
these water droplets are formed.” _ [2)

21



ﬂ‘ldbll S"eef
(b)  Jenny observed that the water droplets formed on the rpirfor decreased

after some time. Explain her observation. » A)

{(c) Jenny's mum bought a packet of vegetables from the market and she
placed it in the refrigerator immediately when she reached -hame. After a .
few hours, she took the packet of vegetables out from the refrigerator to
cook it for lunch. She discovered that there were tmy water droplets
on the inner side of the packet.

Explaln clearly where did the water droplets.come from L : ;:—['1"']'
32(a) How are seeds and.-s,psre's sjmila;f? ‘ : [1]

32(b) Why are seeds and spores important to plants? [11

33. . Mr Tan a dunan farmeri; bought a new. plotof land. ‘He tiad seleds from 2
parent plants, X and Y. Parent plant X was stroog and has sweet and juicy
“fruits. Parent'plant Y was strong-and had non-fiéshy fruits.- Which.seed
should Mi Tan sow in hns new p}mt of land so that he could harvest to get

high sale? Why?- 21

22 | _ 6




34. Two porcelain pots are inverted into a tub of water. The 2 pots are similar
~in every way except that one has 3 holes and the other one has no hole at
the base.

Y - Z ~— b
: / l‘ \ water

—— — — — — — — — — — — — —J porcelain pot

(a) Identify thea:yot (Xor ’1() which ‘Has'3 holes and Yhe one. which has no _
hole at the b%s*e*respechvely and write incthe blank below: 1

() Three holes: Pot

(it No hole: Pot

(b).  Explain your answer.in part (a). N !

23



35.  The diagram below shows the life cycle of a mosaquito.

(a)  State one way in which this insect is harmful:to humans. ' )]

(b) ©  Atwhich stage of the life cycle is it the most difficuit to kill? Why? (1

24



36. Mandy.set up two expenments A and B as shown below and placed them
under the Sum : : :

clear . o
plastic ice cube
rubber band

mug

sait mixing
solution bowi

-. icecube

rubber band” _
mug

coffee . S i mxing |

' ' bowl
(a) Whatis the purpose of the ice cubes? : (1]

(b) What would be collected in the mug after 20 mmutes for set-up A and set:
up B? , . [2]

Set-up A:

Set-up B:

25



37. Josephhad:2 pots of dry soil. He'bought & packet of séeds and'soaked
half of the seeds in water before scattering them on the soil in Pot E. He

scattered the other half of dry seeds directly on another similar pot of soil,
F.

seeds soaked dry seeds
in water

PotE Pot F

The seeds in pot E grew into seedlings but the seeds in pot F did not. ‘

(@)  Explain whythe seeds in pot F did not gfow into seedlings. 1]

(b)  What can you conclude from this experiment? [1]

26




38(a) Study the diagram below. John washes his hands at. the basin and the
water flows lnto the clstem

How is water conserved by using tHis éco-friendly cistern? ™ i

38(b) Look at the diagram below.

Suggest a way that the boy'ban do in order 6 conserve water. 1

27



39. - . :William knows that he can reproduce dunan trees from seeds. He wanis to
find out if a seed will grow after it is boiled in water: He préepares 2 set-ups
as shown below.

soil
durian seed

soil

boiled durian seed

Setup A S Setup B

(a) List 2 vanables that Wnlham must keep the same in ovde;\ensure that the

testisfair. . ... .. .. .. .. - : v [21
®
(i),
(b)  Which seed (in Set-up A or Set-up B) will not grow after 2 weeks? [1]
(e) . Give a reason for your answer in (b) — 1]

28



40(a) -The-table ‘below shows the number of a type of fish: m a* pond over a
- period of 5. months.- .

Month . Number of fish _
-January - 7 “ 98 -
Febriary - R R
March , ) — 33
Aprl . : 1 - . 38 ..
L . May. e N 44 o

\__,,.

(i)" Based on the table above, how has the number of ﬁsh changep qver the-5
. ‘months? ' , B L {11

(i)  This particular type of fish only feeds on hydrilla plants grown in the pond.
What will happen to the fish if all these hydnlla p]ams in the.pond died?
: lee a reason for your answer. , - [1]

29



40(b) James fed 4 young bulifrogs, W, X, Y and Z, with different numbers of

Y0%

0

cickets every day.

. The other.conditions were kept exactly the same. The masses of each of

the 4 bullfrogs were taken every week. The results are shown in the table
below.

{ Bullfrog| Number of ‘Mass of buﬂfrlg_g' (9) ]
crickets eaten | T=\week | 2™ week | 3 week | 4™ week
__everyday .

W 4 31 3 g 32 | 33 |
X 7 31 32 ..} 33 " 35
Y. 13 31 | 33" 36 | Dead |
4 22 31 34 Dead -

Erom the data given in the tabie above, what is the most suitable number
of crickets James should give to the bulifrogs if he wants fo increase their
masses the fastest without harming them? -~ . v (1

Bualifrogs Y and Z died in the 3™ week and 4® week after the start of the
experiment. Provide d-reason for the death of the 2 bullfrogs based on the
data in the table above. . . o (11

30



41. As Tammy was iookmg up at the roof of her house, she spotted some
bird’s nest ferns growing on the roof as shown in the diagram below.

(@ ‘How did the bird's nest fem n'ianage {6 grow on the roof of the house? [1]

(b) . .Statetwo similarities between the bird's:nest:fem and moss.’ - [2]

31



42.° James has a plede of spongeand a box as shown below.

cardboard box

(a) Do you think it is possible to squeeze the sponge into the box? Give a
reason for your answer. ' [y

———

(b) James believes that the sponge is a solid. Is he correct? Give a reason for
your answer? {21

32



43.  The graph below shows the number of days in each stage of the life cycle

of an insect. '
Number of days
Iy

10 -
8 -
6 pa
4 i ¢
2 ]

. DRERL IR S gess |
0 . At Stage

7 -Adult male. . ;. . Adult female
(a) How many stages are there in the life cycle of this insect? [1]

(b} How man days does it take for the insect to become an adult after the
egg hatpftfes? {1

(c) How many more days does:the adult female live than the adult male? [1]

33



44. The table below describes 4 categories of animals.

Animal | Outer Coveﬁng ngs Feelers | Wing Fins Beak
L_%W . Hair 2 - 2 - C -
X Scales - - - 8 -

Y Feathers 2 - 2 - 1
Z *Exoskeleton 6 2 2 - -

* An exoskeleton is an external skeleton that supports and protects; an

ammal s body

()  Which animal is most likely anfamial? Why do. ybu think s0?

ay -

o

(by If ammal Z is an insect, name 2 other charactensucs of msects that are '

not given'in m}table

—

[2]

END OF PAPER

34




=

EXAM PAPER 2011

SCHOOL : NAN HUA
SUBJECT : PRIMARY 5 SCIENCE

TERM : CAl1

Q1 1 Q2 1 Q3 | Q4 [ Q5106 Q71Q8 | Q3 |Q10|Q11]Q12| Q13 Q14-I Q15 | Q16
3 11 3 1 4 2

2 2 4 3 3 3 2 2 4 1

Q18 {1 Q19 ]1Q201Q21 | 022 ] Q23 | Q24| Q25| Q26 Q27 Q28 Q23 | Q30

3 | 4| 224|124 23132

31)a)The water in the kettle gains heat and evaporate to form steam. The steam
rises and when it comes in contact with the cool surface of the metal sheet, it loses
heat and condenses to form water droplets on the metal sheet.
b)Because when the evaporate water touches the cool surface of the metal sheet,
it gains heat from the evaporate water and would slow down the rate of evaporate.
- €)The water vapour trapped in the packet lose heat and condenses into water
droplets when it comes into contact with the cool inner surface of the packet.

32)a)They both grow into a plant or fern.
b)They ensure the continuity of their own kind.

33)Parent plant X. Seeds from delicious fruit usually produce plants that bear the
same kind of delicious fruit as plants pass on the characteric to their young when
they reproduce.

34)a))Y i)z

b)The water level in pot Y higher as it has 3 holes, allowing air to escape from the
pot and water in the tubrise up to take it place. The water level in pot Z is lower as
air is occupying the space since there are no holes for it to escape.

35)a)When they bite us they may transfer germs to our body and we may fall sick.
b)The adult stage. Because it has wings and can fly around easily hence, the adult
stage is the most difficult to kill.

36)a)lt is to cool the plastic sheet so as to provide a cool surface for condensation to
occur. ' :
b)A: Water
B: Water

Pagel1to2 page 1




37)a)Dry seeds do not have sufficient water for it to grow.
b)Seed needs water to germinate.

38)a)The water for washing hands is collected in the cistern and reused for flushing
the toilet.

b)Do not do not fill the tube up to the brim before you 20 in you only need to fill it
to the half.

39)a)i)The amount of water.  ii)The number of seeds.
b)The seed in Set-up A.
c)When the seed in boiled, it kills the seed therefore the seed will not grow.

40)a)i)The number of fish has increased.
ii)The fish will die. Because when they will eat up all the food sources, they will
have no more food and would die of hunger.
b)i)7 crickets.
it)They ate too much therefore they died.

41)a)Spores were carried by wind to the roof.
b)They are both non-flowering plants.

42)a)Yes. The sponge has a lot of air spaces and air can be compressed.
b)Yes. The sponge has a definite shape and volume.

43)a)4.
b)13.
c)3.

44)a)W. It's outer covering has hair.
b)Has antennas and has three body parts.
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